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ZRIIOR:
ASETERIACR > 2 4819 20 SEHRAEIIEN © 17 Google RIEY
LS > BRI » FTLSEEAHTED

RS4RI
https://docs.google.com/forms/d/1WKGHE2MxyjO5DfWqimsCV2MWYGS9ijrnqT8QM
KG2H3bk/viewform?c=0&w=1

M shiny 77 BhzAEUL:

https://wenjlo.shinyapps.io/shiny3/

EiRHa & aTts 28 SEER] - bR G (ERAEE A ENER) - 85 20 &
& EhiEiE 20 jRiE R &A 20 (EE %

Hp B LT HIA:

‘Z#(good)

38 (common)

A EZ#(bad)
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B 1 goole FREEFEY xIsx 15 » FRFE RIS LIT
Ak 20 5RfE F E AR

picture  good common bad

pl 5 14 1
pe 8 7 5
p3 9 8 3
pd 6 13 1
pS 15 4 1
pb 13 6 1
p7 10 9 1
p8 13 5 2
p9 12 6 2
pl0 7 8 5
pll 13 4 3
pl2 2 10 8
pl3 14 5 1
pl4 5 9 6
plS 4 9 7
pl6 18 0 2
pl7 13 5 2
pl8 9 8 3
pl9 9 7 4
p20 8 7 3


https://docs.google.com/forms/d/1WKGHE2MxyjO5DfWqimsCV2MWYGS9jrnqT8QMKG2H3bk/viewform?c=0&w=1
https://docs.google.com/forms/d/1WKGHE2MxyjO5DfWqimsCV2MWYGS9jrnqT8QMKG2H3bk/viewform?c=0&w=1
https://wenjlo.shinyapps.io/shiny3/
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LER D R

& 20 {E[EIFE - FE48 jpeg package

RGB (B LA K KFEAE -
EETREETELR AR good ~ common ~ bad A%

BHENIFEAZL R code:

EA R WETE TR

(MR EEERE SEAEL ~ Tl AR - AZEAE 1
PRINEE) > 1 eva (SR8 FEB S JERGH AT A28 evan -

2 @O O @rEEHERIEDNHERTIR @ O OrUOHEQITONRTID @ O @

blue

3464953768
.4587094785
.4587094785
.4587094785
.4587094785
.4587094785
.4587094785
.4587094785
.4587094785
.4587094785
.4587094785
.4587094785
.4587094785
.4587094785
.4587094785
.4587094785
.4587094785
.4587094785
.4587094785
.4587094785

R code: evan=recode(eva,"10:20='good';-20:0="'bad";else='common'")

eva 4T85 evan

10~20 43 Good

0~9 Common

0LLF Bad

picture good common bad gray red green

pl 5 14 1 0.4188871028 0.4758767400 0.4039785621
p2 8 7 5 0.5774311851 0.6049309964 0.5865923543
p3 9 8 3 0.4379727848 0.6049309964 0.5865923543
pé 6 13 1 0.5230512219 0.6049309964 0.5865923543
pd 15 4 1 0.4487876181 0.6049309964 0.5865923543
p6 13 6 1 0.5464648506 0.6049309964 0.5865923543
p7 10 9 1 0.3453606417 0.6049309%64 0.5865923543
p8 13 5 2 0.4954652161 0.6049309964 0.5865923543
p9 12 6 2 0.5188190364 0.6049309%64 0.5865923543
pl0 g/ 8 5 0.5505802108 0.6049309964 0.5865923543
pll 13 4 3 0.4891715641 0.6049309964 0.5865923543
pl2 % 10 8 0.3901785385 0.6049309964 0.5865923543
pl3 14 5 1 0.4105986947 0.6049309964 0.5865923543
plé 5 9 6 0.2690228477 0.6049309964 0.5865923543
plo 4 9 7 0.2946332586 0.60493099%964 0.5865923543
ple 18 0 2 0.5414011833 0.6049309964 0.5865923543
pl7 13 5 2 0.4771793413 0.6049309964 0.5865923543
pl8 9 8 3 0.6446370450 0.6049309964 0.5865923543
pl9 9 7 4 0.5911413923 0.6049309964 0.5865923543
p20 8 7 5 0.5200417967 0.6049309964 0.5865923543

eva=dataSgood*1+dataScommon*0+dataSbad*-1

evan
common
common
common
common
good
good
common
good
good
common
good
bad
good
bad
bad
good
good
common
common
common



BB IKIE {H(gray) ~ RGB {H - EHE5RIE R S BIAYIKFEEL RGB AP (H -
PR i

tree=tree(evan~gray+red+green+blue,data=data2,method="class")

HAFILA evan X3 B (Rt HAMIIIRER 7 HRE B0 B R gL -
Llgray + RGB & f#fes® -

LUk 30% & s AN (R R S 20 SRR > AT DA EERCRHIEES)

GEEATT:

gray < 0414743
T

gray < (0.51943

bad

good common
3| SREE A table &TEAfERS ~ HENEEA table& TEAERS

train.predict
evan.traindata bad common good

bad 2 0 0
common 0 4 2
good 0 2 4

[1] 0.7142857
> table.testdata

test.predict
evan.testdata bad common good

bad 1 0 0
common 5 B 2 0
good 5 & 0 5 &

> sum(diag(table.testdata))/sum(table.testdata)
[1] O.6666667



BEATAS > R EALUTHIEE
a. RGBS I A EM
b.

KPS {E<0.414743  ->  bad
0.414743< 45 /K[4{E<0.51943 -> good
IR PE{E>0.51943  -> common

3AEREIT
(FeFIZEH fpc package - F3EIRVER TEFEUR 4)

clusplot(fanny(x = data1, k = 4))
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o +\‘\\ /7
b oA

Y/ F
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b \\ /
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Component 2

Component 1
9 inf variabilitv

Silhouette plot of fanny(x = data1, k = 4)
n=20 4 clusters C;
i nylaveeg s

1: 21080
1

2 2: 71057

1 3: 8054 20

12 43105 |13

r T T T ! !
00 02 04 06 08 10 17
Silhouette width s; 8

Average silhouette width - 0.58

wn
[Y ST UYL VR VI VI VS TV TV I VI R (ST ST (ST 6 R G I S R S

cluster neighbor

NN RN RN RN RMNRNRNDNRNDRLDRND S W S W W W

8il width
.8166612
. 7845621
.6863635
.6862598
. 6759807
.6036032
.6034220
.3606923
.3522061
.6427289
.6309031
.6188602
.6188555
.5313731
.5150654
.4411138
.3179708
.6715245
. 6249767
.4387434

=~ YO = VAU~ Yk - Yok < VAR <~ YAk - VAR - VAR Yk - VA — VL - YR~ VK~ YAk - YR — VAR~ Yt <~ Yk - Vit -}



AE A A o R

E=—EE14

55 #%:3,18,19,2,20,7,10
%5 —=1¥$:13,5,17,8,11,6,16,9
FUUEE:15,12,14

A A AR (4-3-3)

B2

B1

gay |1

H1 01 bad
red 2 \

H2 ', 02 comme
green |3

H3 03 good
blue 14 /

LB TN EHER By 75% » IETAT L, -
ERBRIBIY weights JIT: ) Jiyeiep(evamomasmmediomeantuiue, dasardanad, size=s)

# weights:
initial value 22.763883
iter 10 wvalue 19.396115
iter 20 value 13.867662
iter 30 value 10.820284
iter 40 value 10.466846
iter 50 wvalue 10.398693
iter 60 wvalue 10.356530
iter 70 wvalue 10.257691
iter 80 value 10.182978
iter 90 value 10.007176
iter 100 wvalue 9.942053
final wvalue 9.942053
stopped after 100 iterations
> ypred=predict (result,data2, type="class")
> ti=table (data2fevan, ypred)
> sum(diag(tl))/sum(tl)
[1] 0.75
> summary (result)
a 4-3-3 network with 27 weights
options were - softmax modelling
b->hl1 il->hl1 i2->h1 i3->hl1 i4->hl
9.61 12.86 2.80 0.74 1.46
b->h2 il->h2 i2->h2 i3->h2 i4->h2
-9.42 -14.34 6.95 12.26 6.62
b->h3 i1->h3 i2->h3 i3->h3 1i4->h3
1.09 -31.63 5.84 8.36 4.35
b->01 hi->o0l h2->0l1 h3->o01
-17.08 7.78 38.60 -11.34
b->02 hl->02 h2->02 h3->02
15.00 -8.81 -40.55 29.66
b->03 hl->03 h2->03 h3->03
2.00 1.24 2.90 -17.67




5. BEmEAR A AT

R code:

grayl=ordered(cut(data3Sgray,breaks=4))
redl=ordered(cut(data3Sred,breaks=4))

(supp=0.4 ,conf=0.6)

greenl=ordered(cut(data3Sgreen,breaks=4))

bluel=ordered(cut(data3Sblue,breaks=4))
~ RGB TH{E%E » & VIR
HANE A Wi data frame » —{E 2 RGB Ei evan

BT IR P

» —{lil}2 gray i evan

JE R R R IR PEEL A SR 3 2 775 48 RGB B A\ 357k -
FH AL E—{E data frame > & IR 2% gray Hi

AN HERMZHRAEEER
(1)RGB i evan [HEsEARH]

R code :

datad=data.frame(red1,greeni,bluel,data3Sevan)

1 RGB AHEARIAAN -

lhs rhs support confidence lift
4 | {data3.evan=good} => {red1=(0.573,0.605]} 0.40  1.0000000 1.0526316
5 | {data3.evan=good} => {qgreenl=(0,541,0.587]} 0,40  1.0000000 1.0526316
6 | {data3.evan=good} => {bluel=(0.431,0,459]} 0.40  1.0000000 1.0526316
10 {red1=(0.573,0.605]} => {qgreenl=(0,541,0.587]} 0,95  1.0000000 1.0526316
11 {greenl=(0.541,0.587]} = {red1=(0.573,0.605]} 0.95  1.0000000 1.0526316
12 {red1=(0.573,0.605]} => {bluel=(0,431,0.459]} 0.95  1.0000000 1.0526316
13 {bluel=(0.431,0.459]} => {red1=(0.573,0.605]} 0.95  1.0000000 1.0526316
14 {greenl=(0.541,0.587]} => {bluel=(0.431,0.459]} 0.95  1.0000000 1.0526316
15 {bluel=(0.431,0.459]} => {greenl=(0,541,0.587]} 0.95  1.0000000 1.0526316
14 {red1=(0.573,0.605],data3.evan=good} => {greenl=(0,541,0.587)} 0.40  1.0000000 1.0526316
17 {greenl=(0.541,0.587],data3.evan=good} = {red1=(0.573,0.605]} 0.40  1.0000000 1.0526316
1§ {red1=(0.573,0.605],data3.evan=good} =» {bluel=(0,431,0.459]} 0.40  1.0000000 1.0526316
19 {bluel=(0.431,0.459],data3.evan=good} = {red1=(0.573,0.605]} 0.40  1.0000000 1.0526316
24 {qreenl=(0,541,0.587],data3.evan=good} => {bluel=(0.431,0.459]} 0.40  1.0000000 1.0526316
21 {bluel=(0.431,0.459],data3.evan=good} => {greenl=(0,541,0.587]} 0.40  1.0000000 1.0526316
22 {red1=(0.573,0.605],data3.evan=common} => {greenl=(0,541,0.587]} 0.40  1.0000000 1.0526316
29 {greenl=(0.541,0,587],data3.evan=common} =» {red1=(0.573,0.605]} 0.40  1.0000000 1.0526316
24 {red1=(0.573,0.605],data3.evan=common} =» {bluel=(0,431,0.459]} 0.40  1.0000000 1.0526316
29 {bluel=(0.431,0.459],data3.evan=common} = {red1=(0.573,0.605]} 0.40  1.0000000 1.0526316
24 {qgreenl=(0,541,0,587],data3.evan=common} => {bluel=(0,431,0.459]} 0.40  1.0000000 1.0526316
27 {bluel=(0.431,0.459],data3.evan=common} => {qgreenl=(0,541,0.587]} 0,40  1.0000000 1.0526316
8 {redl=(0.573,0.605],greenl=(0.541,0.587]} => {bluel=(0,431,0.459]} 0.95  1.0000000 1.0526316
29 {red1=(0.573,0.605],bluel=(0.431,0.459]} => {qgreenl=(0,541,0.587])} 0,95  1.0000000 1.0526316
30 {greenl=(0.541,0,587],bluel=(0,431,0.459]} =y {red1=(0.573,0.605]} 0.95  1.0000000 1.0526316
31 |{red1=(0.573,0.605],qreenl=(0,541,0.587],data3.evan=good} = => {bluel=(0.431,0.459]} 0.40  1.0000000 1.0526316
32 |{red1=(0.573,0.605],bluel=(0.431,0.459],data3. evan=good} => {greenl=(0.541,0.587]} 0.40  1.0000000 1.0526316
33 |{greenl=(0,541,0,587],bluel=(0,431,0,459],data3.evan=good} => {red1=(0.573,0.605]} 0.40  1.0000000 1.0526316
34 |{red1=(0.573,0.605] ,greenl=(0.541,0,587] ,data3.evan=common} => {bluel=(0.431,0.459]} 0.40  1.0000000 1.0526316
35 |{red1=(0.573,0.605],bluel=(0,431,0.459],data3.evan=common} => {greenl=(0,541,0.587]} 0.40  1.0000000 1.0526316
36 |{greenl=(0,541,0,587],bluel=(0,431,0,459],data3.evan=common} => {red1=(0.573,0.605]} 0.40  1.0000000 1.0526316
11} =» {red1=(0.573,0.605]} 0.95  0.9500000 1.0000000
2 {} => {greenl=(0,541,0.587)} 0.95  0.9500000 1.0000000
3 {} => {bluel=(0.431,0.459]} 0.95  0.9500000 1.0000000
7 {data3.evan=common} => {red1=(0.573,0.605)} 0.40  0.8888889 0.9356725
8 {data3.evan=common} =>» {greenl=(0,541,0,587]} 0.40  0.8888889 0,9356725
9 {data3.evan=common} =» {bluel=(0,431,0.459]} 0.40  0.8886889 0.9356725




5. BEMERA R b
(2) gray B evan BEEEAR AN HT
R code :data44=data.frame(grayl,data3Sevan)

1hs rhs support confidence lift
1 {data3.evan=good} =» {grayl=(0.457,0.551]} 0.3 0.7500000 1.666667
2 {grayl=(0.457,0.551]} => {data3.evan=good} 0.3 0.6666667 1.666667



e

B!

SRS V.S BRI A

LR
KPS {E<0.414743  ->  bad
0.414743< K [¥4{E<0.51943 -> good
S K PE{E>0.51943  -> common
EalspiElE
0.457< 34 K [E{E<0.551 -> good
0.573< red< 0.605 ->  good
0.541< green <0.587 -> good
0.431 < blue <0.459 -> good.......... etc
levels:
> levels (grayl)
[1] "(0.269,0.363]" "(0.363,0.457]" "(0.457,0.551]" "(0.551,0.645]"
> levels (redl)
[1] "(0.476,0.508]" "(0.573,0.605]"
> levels (greenl)
[1] "(0.404,0.45]" " (0.541,0.587]"
> levels (bluel)
[1] "(0.346,0.375]" "(0.431,0.459]"

BAPTOT DASESR - SRR A RGB AV E AR MRAR R RIS AriE R
ATLUE ] RGB o335 (B IRPEE A A A — R AN(GE] good HYARAY) -
PO R] DU PR ERF 8] 5355 good ~ common ~ bad -
SR
TEEEEF I ATHVGESRACE - REMIE RO E 2 ~ 3 8 -
F LEHVERSA 2 (EE R - i HIEEEE SR - e R BECR
ERATEARHE -

SR LA ST > AR EIR Bk > BeadsiE 5 - kS E
I 0.4570.5 7ok WHBRZFEE - 5 LUE 20 5RIE H 2CE 0.45~0.5
FYIRFEE TR T > A AIEEAGR AR A SRR SE SRR E 2 > LHER
MFVEZ - BRI ZE RSB R 5 # o R E -



Rcode:

setwd("D:/")
data=read.csv("data.csv")
head(data)

H3H 20 SRIEE

library(jpeg)
picl=readJPEG("images/1.jpg")
pic2=readJPEG("images/2.jpg")
pic3=readJPEG("images/3.jpg")
pic4=readJPEG("images/4.jpg")
pic5=readJPEG("images/5.jpg")
pic6=readJPEG("images/6.jpg")
pic7=readJPEG("images/7.jpg")
pic8=readJPEG("images/8.jpg")
pic9=readJPEG("images/9.jpg")
pic10=readJPEG("images/10.jpg")
picll=readJPEG("images/11.jpg")
pic12=readJPEG("images/12.jpg")
pic13=readJPEG("images/13.jpg")
picl4=readJPEG("images/14.jpg")
pic15=readJPEG("images/15.jpg")
picl6=readJPEG("images/16.jpg")
pic17=readJPEG("images/17.jpg")
pic18=readJPEG("images/18.jpg")
pic19=readJPEG("images/19.jpg")
pic20=readJPEG("images/20.jpg")

HIEHA R K

pic1a=0.2989*picl[,,1]+0.5866*pic1[,,2]+0.1145*pic1[,,3]
pic2a=0.2989*pic2[,,1]+0.5866*pic2[,,2]+0.1145*pic2|,,3]
pic3a=0.2989*pic3[,,1]+0.5866*pic3[,,2]+0.1145*pic3[,,3]
pic4a=0.2989*pic4[,,1]+0.5866*pic4[,,2]+0.1145*pic4[,,3]
pic5a=0.2989*pic5[,,1]+0.5866*pic5[,,2]+0.1145*pic5[,,3]
pic6a=0.2989*pic6(,,1]+0.5866*pic6[,,2]+0.1145*pic6[,,3]
pic7a=0.2989*pic7[,,1]+0.5866*pic7[,,2]+0.1145*pic7[,,3]
pic8a=0.2989*pic8[,,1]+0.5866*pic8[,,2]+0.1145*pic8|,,3]
pic9a=0.2989*pic9[,,1]+0.5866*pic9[,,2]+0.1145*pic9[,,3]



pic10a=0.2989*pic10[,,1]+0.5866*pic10[,,2]+0.1145*pic10[,,3]
pic11a=0.2989*pic11[,,1]+0.5866*pic11[,,2]+0.1145*pic11[,,3]
pic12a=0.2989*pic12[,,1]+0.5866*pic12[,,2]+0.1145*pic12],,3]
pic13a=0.2989*pic13[,,1]+0.5866*pic13[,,2]+0.1145*pic13[,,3]
pic14a=0.2989*pic14[,,1]+0.5866*pic14][,,2]+0.1145*pic14[,,3]
pic15a=0.2989*pic15[,,1]+0.5866*pic15[,,2]+0.1145*pic15[,,3]
pic16a=0.2989*pic16[,,1]+0.5866*pic16][,,2]+0.1145*picl6[,,3]
pic17a=0.2989*pic17[,,1]+0.5866*pic17[,,2]+0.1145*pic17[,,3]
pic18a=0.2989*pic18[,,1]+0.5866*pic18][,,2]+0.1145*pic18[,,3]
pic19a=0.2989*pic19[,,1]+0.5866*pic19[,,2]+0.1145*pic19[,,3]
pic20a=0.2989*pic20[,,1]+0.5866*pic20[,,2]+0.1145*pic20[,,3]

gray=c(mean(picla),mean(pic2a),mean(pic3a),mean(pic4a),mean(pic5a),mean(picéa
),mean(pic7a),mean(pic8a),mean(pic9a),mean(picl0a)
,mean(piclla),mean(picl2a),mean(picl3a),mean(picl4a),mean(picl5a),mea
n(picl6a),mean(picl7a),mean(picl8a),mean(picl9a),mean(pic20a))
red=c(mean(picl[,,1]),mean(pic2[,,1]),mean(pic2[,,1]),mean(pic2[,,1]),mean(pic2[,,1]
),mean(pic2[,,1]),mean(pic2[,,1]),mean(pic2[,,1]),mean(pic2[,,1]),mean(pic2[,,1]),

mean(pic2[,,1]),mean(pic2[,,1]),mean(pic2[,,1]),mean(pic2[,,1]),mean(pic2[,,1]),mean
(pic2[,,1]),mean(pic2[,,1]),mean(pic2[,,1]),mean(pic2[,,1]),mean(pic2(,,1]))
green=c(mean(picl[,,2]),mean(pic2[,,2]),mean(pic2[,,2]),mean(pic2[,,2]),mean(pic2|,,

2]),mean(pic2[,,2]),mean(pic2[,,2]),mean(pic2[,,2]),mean(pic2[,,2]),mean(pic2[,,2]),

mean(pic2[,,2]),mean(pic2[,,2]),mean(pic2[,,2]),mean(pic2[,,2]),mean(pic2[,,2]),mean
(pic2[,,2]),mean(pic2[,,2]),mean(pic2[,,2]),mean(pic2[,,2]),mean(pic2,,2]))

blue=c(mean(picl[,,3]),mean(pic2[,,3]),mean(pic2[,,3]),mean(pic2[,,3]),mean(pic2[,,3
]1),mean(pic2[,,3]),mean(pic2[,,3]),mean(pic2[,,3]),mean(pic2[,,3]),mean(pic2[,,3]),

mean(pic2[,,3]),mean(pic2[,,3]),mean(pic2[,,3]),mean(pic2[,,3]),mean(pic2[,,3]),mean
(pic2[,,3]),mean(pic2[,,3]),mean(pic2[,,3]),mean(pic2[,,3]),mean(pic2,,3]))

eva=dataSgood*1+dataScommon*0+dataSbad*-1

library(car)



evan=recode(eva,"10:20="good';-20:0="bad';else='common"")

data2=cbind(data,gray,red,green,blue,evan)

library(tree)

set.seed(6)

n=0.3*nrow(data2)
test.index=sample(1:nrow(data2),n)
data2.train=data2[-test.index,]
data2.test=data2[test.index,]

# LRS!

tree=tree(evan~gray+red+green+blue,data=data2,method="class")

plot(tree)

text(tree)

Hll| SRR A TE R

evan.traindata=data2Sevan[-test.index]
train.predict=factor(predict(tree,data2.train,type="class"),levels=levels(evan.traindat
a))

table.traindata=table(evan.traindata,train.predict)
sum(diag(table.traindata))/sum(table.traindata)

#HIEVEE A R

evan.testdata=data2Sevan(test.index]
test.predict=factor(predict(tree,data2.test,type="class"),levels=levels(evan.testdata))
table.testdata=table(evan.testdata,test.predict)
sum(diag(table.testdata))/sum(table.testdata)

#IR AL

library(nnet)

set.seed(6)
result=nnet(evan~gray+red+green+blue,data=data2,size=3)
HEUT TR AR
ypred=predict(result,data2,type="class")
t1=table(data2Sevan,ypred)
sum(diag(t1))/sum(t1)

summary(result)

HeE [

library(NeuralNetTools)



plotnet(result)

datal=data2[,2:8]
library(fpc)
pamk(datal,2:10)

library(cluster)
resultl=fanny(datal,4)
resultl

summary(result)

plot(resultl)

HEE S BRI R
m=result1SsilinfoSwidths

m[1:20,]

HIERIGAR HI o b

library(arules)

data3=data2[,5:9]
grayl=ordered(cut(data3Sgray,breaks=4))
red1l=ordered(cut(data3Sred,breaks=4))
greenl=ordered(cut(data3Sgreen,breaks=4))
bluel=ordered(cut(data3Sblue,breaks=4))
H#RGB Gl
data4=data.frame(red1,greenl,bluel,data3Sevan)

data5=as(data4,"transactions")

inspect(data5[1:10,])

rules=apriori(data5,parameter=list(supp=0.2,conf=0.6,target="rules"))
inspect(head(sort(rules,by="lift"),n=100))

#gray AR A

datad4=data.frame(grayl,data3Sevan)

data55=as(data44,"transactions")

inspect(data55[1:10,])



rules=apriori(data55,parameter=list(supp=0.2,conf=0.6,target="rules"))
inspect(head(sort(rules,by="lift"),n=100))

shiny server code

data<-read.csv("data/Res.csv",header = T)

t1=table(dataSpicturel)
t2=table(dataSpicture2)
t3=table(dataSpicture3)
t4=table(dataSpicture4)
t5=table(dataSpicture5)
t6=table(dataSpicture6)
t7=table(dataSpicture?7)
t8=table(dataSpicture8)
t9=table(dataSpicture9)
t10=table(dataSpicture10)
t11=table(dataSpicturell)
t12=table(dataSpicturel2)
t13=table(dataSpicturel3)
t14=table(dataSpicturel4)
t15=table(dataSpicturel5)
t16=table(dataSpicturel6)
t17=table(dataSpicturel?7)
t18=table(dataSpicturel8)
t19=table(dataSpicture19)
t20=table(dataSpicture20)

library(shiny)
library(datasets)

shinyServer(function(input, output,session) {

outputSimage2 <- renderimage({

if (is.null(inputSpicture))



return(NULL)

if (inputSpicture == "picture_1") {
return(list(
src = "images/1.jpg",

contentType = "image/jpeg"

)
}
if (inputSpicture == "picture_2") {
return(list(
src = "images/2.jpg",

filetype = "image/jpeg"

)
}
if (inputSpicture == "picture_3") {
return(list(
src = "images/3.jpg",

filetype = "image/jpeg"

))
}
if (inputSpicture == "picture_4") {
return(list(
src = "images/4.jpg",
filetype = "image/jpeg"

)
}
if (inputSpicture == "picture_5") {
return(list(
src = "images/5.jpg",
filetype = "image/jpeg"

)

}
if (inputSpicture == "picture_6") {



return(list(
src = "images/6.jpg",

filetype = "image/jpeg"

)

if (inputSpicture == "picture_7") {
return(list(
src = "images/7.jpg",
filetype = "image/jpeg"

)
}
if (inputSpicture == "picture_8") {
return(list(
src = "images/8.jpg",
filetype = "image/jpeg"

)

if (inputSpicture == "picture_9") {
return(list(
src = "images/9.jpg",
filetype = "image/jpeg"

)
}
if (inputSpicture == "picture_10") {
return(list(
src = "images/10.jpg",
filetype = "image/jpeg"

)

if (inputSpicture == "picture_11") {



return(list(
src = "images/11.jpg",
filetype = "image/jpeg"

)
}
if (inputSpicture == "picture_12") {
return(list(
src = "images/12.jpg",
filetype = "image/jpeg"

)
}
if (inputSpicture == "picture_13") {
return(list(
src = "images/13.jpg",
filetype = "image/jpeg"

)
}
if (inputSpicture == "picture_14") {
return(list(
src = "images/14.jpg",
filetype = "image/jpeg"

)
}
if (inputSpicture == "picture_15") {
return(list(
src = "images/15.jpg",
filetype = "image/jpeg"

)
}
if (inputSpicture == "picture_16") {
return(list(
src = "images/16.jpg",
filetype = "image/jpeg"



)
}
if (inputSpicture == "picture_17") {
return(list(
src = "images/17.jpg",
filetype = "image/jpeg"

)
}
if (inputSpicture == "picture_18") {
return(list(
src = "images/18.jpg",
filetype = "image/jpeg"

)
}
if (inputSpicture == "picture_19") {
return(list(
src = "images/19.jpg",
filetype = "image/jpeg"

)
}
if (inputSpicture == "picture_20") {
return(list(
src = "images/20.jpg",
filetype = "image/jpeg"

)

}, deleteFile = FALSE)
# Return the requested dataset

datasetinput <- reactive({

switch(inputSdataset,



"picturel" = t1,"picture2"=t2,"picture3"=
t3,"pictured"=t4,"picture5"=t5,

"picture6"=t6,"picture7"=t7,"picture8"=t8,"picture9"=t9,"picture10"=t10,

"picture11"=t11,"picture12"=t12,"picture13"=t13,"picturel4"=t14,"picture15"=t15,

"picturel6"=t16,"picturel7"=t17,"picture18"=t18,"picture19"=t19,"picture20"=t20)

b

outputSsummary <- renderPrint({
dataset <- datasetlnput()

summary(dataset)

b

# Show the first "n" observations
outputSview <- renderTable({

datasetlnput()
})

#pie chart

outputSplot<-renderPlot({
dataset<-datasetinput()
pie(dataset)

b

b

shiny ui code:
library(shiny)

shinyUl(fluidPage(

titlePanel("DataMining for final report"),

sidebarLayout(



sidebarPanel(
selectInput("picture", "Choose a picture for view :",
choices =

c("picture_1","picturel","picture_2","picture_3","picture_4","picture_5",

"picture_6","picture_7","picture_8","picture_9","picture_10",

"picture_11","picture_12","picture_13","picture_14","picture_15",

"picture_16","picture_17","picture_18","picture_19","picture_20")),
selectinput("dataset", "Choose a picture for Observations table & Pie chart:",
choices =

c("picturel"”,"picture2","picture3","pictured","picture5",

"picture6","picture7","picture8","picture9","picture10",

"picturell”,"picturel2","picture13","picture14","picturel5",

"picturel6","picturel7","picturel8","picturel9","picture20"))
),

mainPanel(
h1("View picture"),
imageOutput("image2"),

br(),

br(),

br(),

br(),

br(),

br(),

br(),

br(),

br(),
h1("Observations Table"),
tableOutput("view"),



h1("Pie chart for picture"),
plotOutput("plot")

)



